= o
N & o & AF & H Al A
202298 & =0l & L BHSI A ZOH el = Xt
A ZoHel=X
M HOe =2XNE5E
& Hoe 258 (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OH o1 = XI Bt 247,720,112 229,339,020 18,381,092
= 197,681,604
< 49,046,108
£ 992,400
ZoHel =XEA 247,657,112 229,284,824 18,372,288
= 197,681,604
< 48,983,108
£ 992,400
ZoHel XS 57,754,687 57,254,881 499,806
= 49,323,306
< 8,431,381
ZFHeAZE SH X2 48,267,630 48,061,906 205,724
= 42,768,786
< 5,498,844
308 XtXIEHH SOl A 48,267,630 48,061,906 205,724
= 42,768,786
< 5,498,844
01 X HHILEES 48,267,630 48,061,906 205,724
(OFSV RelReil= 48,267,630,000 48,267,630
= 42,768,786
= 5,498,844
= (Ilx) X2 4,161,437 3,925,173 236,264
= 3,687,349
< 474,088
308 XXX S0 A 4,161,437 3,925,173 236,264
= 3,687,349
< 474,088
01 AXNSGHBLAEES 4,161,437 3,925,173 236,264
OFM==(INx) 4,161,437,000 4,161,437
= 3,687,349
< 474,088
A= (AR S) NS 3,130,810 3,047,143 83,667
= 2,774,136
< 356,674
308 XXM SOIA 3,130,810 3,047,143 83,667
= 2,774,136
< 356,674
01 IXNHHBANEES 3,130,810 3,047,143 83,667
OFM=Z(xae S) 3,130,810,000 3,130,810
= 2,774,136
< 356,674
ZOHO MEotd X 1,356,677 1,356,677 0
308 XX EHHSOIA 1,356,677 1,356,677 0
01 X HHILEES 1,356,677 1,356,677 0




SH: BOHOI= D
HE: Zoje =SXNEA
ool Zojel 2XNEH

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZOMQ MEHMXA(+E S XNH)
,356,677,000 1,356,677
e Es X 402,163 431,950 N29,787
201 £B-2dH| 6,503 7,650 A1,147
01 At 22l 6,503 7,650 A1,147
OBMIZY DS L 25 59 S MM
6,503,000 6,503
307 21201 A 290,660 232,300 58,360
11 AL SXAEE = 290,660 232,300 58,360
O&FOHClIelY AL 30,000, 000 30,000
OZMLl stsZE4 38,000,000 38,000
OFMHREE JlgdA & Ha XA
112,500,000 112,500
OFOMALMEXAIL X2 (B2 110, 160, 000 110,160
308 XX EHSOIA 60,000 90,000 A 30,000
01 HIXNHHNBHNEES 60,000 90,000 A 30,000
2SHE & S=HSAE 50,000, 000 50,000
OZOeIIIE 2 2 SHE MAAE
10,000, 000 10,000
403 MtXISHHE X201 E 45,000 12,000 33,000
01 AXSHMA=2EE 45,000 12,000 33,000
O=4tAl ZOHIEH JIsE22 A 30,000,000 30,000
OFSEXNMEHASEMEAXE JsS2ZALY
15,000, 000 15,000
O W =F ALY 10,328 11,475 A1,147
307 21201 A 10,328 11,475 21,147
11T M3 SXAISEEX 10,328 11,475 A1,147
OFOHHE tEOYA W= 10,328,000 10,328
OEZMe n=EX& 132,907 132,907 0
= 93,035
S 39,872
307 glz2tol & 132,907 132,907 0
= 93,035
< 39,872
11T M SXAISE EX 132,907 132,907 0
OWEHM WFAS 132,907,000 132,907
= 93,035
= 39,872
O ZoHel s X2 (XA 56,700 63,000 A 6,300
307 glz2+ol & 56,700 63,000 26,300
11T MISXASEX 56,700 63,000 A 6,300
OWEZHI WAL (KHA) 56,700,000 56,700
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2N
e =SXsN

el

X ZH
S =

ZOf el =Xl ot

i =S

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
O SIRAMGHEH 29 228,385 217,000 11,385
307 2Iz2t0| A 228,385 217,000 11,385
10 M SXAEEHESIGHEX 228,385 217,000 11,385
OHMeIIASHAEH2A 228,385,000 228,385
O EXN 20 HHUEA 29 7,650 7,650 0]
201 LBt ]| 7,650 7,650 0
01 AP 22| H| 7,650 7,650 0
OZIEXNE20F HHEA 29 7,650,000 7,650
ZHOfQl RHE XS 127,591,404 107,955,996 19,635,408
= 103,005,864
= 24,585,540
O ATHEANE 2 1,805,801 1,620, 166 185,635
307 gizto| A 11,475 49,725 A 38,250
11T A EXAIEEX 11,475 49,725 A 38,250
OS+8n, ZOHAXSHEAIL A N
11,475,000 11,475
308 XAHXIGH SO0l & 1,794,326 1,420,441 373,885
01 AIKISHENEXZ 1,794,326 1,420,441 373,885
OXOMNAUXNATHEAIE AKX  1,740,686,000 1,740,686
OHMAXMNITHEAE SSHHLESSE
21,600,000 21,600
OXOMAUAXMNATHEAIE SAA HEZAH|
32,040,000 32,040
ZOHQIZATHEANE JsES 918,577 348,550 570,027
= 594,118
= 324,459
403 XX SRS K20| & 918,577 324,550 594,027
= 594,118
& 324,459
01 MXHHNE2BE =X 918,577 324,550 594,027
OXMAXMNATHEAIE JIsEZ 891,177,000 891,177
= 594,118
= 297,059
O8N BEsSA&AE JIsE22Z 6,500,000 6,500
OZMAXMATNEAAE 'BR=E UL IsEZ
20,900,000 20,900
ZOHQIMAEZEOHAI A KR (2) 172,500 172,299 201
= 69,000
& 103,500
307 ciztol A 172,500 172,299 201
= 69,000
& 103,500
10 A SAANEEHESIGHEX 172,500 172,299 201

w




2N
e =SXsN

el

X ZH
S =

ZOf el =Xl ot

Zoel X

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFHIMAS EOHAIE 29 172,500,000 172,500
= 69,000
< 103,500
ZOHQIMASEOHAIE XA (%) 62,345 59,945 2,400
303 Z& 3 50,000 0 50,000
01 243 50,000 0 50,000
OZSHHAMME SETH 4012 Al4
50,000, 000 50,000
307 glz2tol & 12,345 59,945 AN4T7,600
10 ALSISXAIEEE 22X 2,400 0 2,400
OHMHAMAZEIFAIE SAX A SAH|
2,400,000 2,400
11T MISRASEX 9,945 59,945 A 50,000
OSSTMHUMLME HIISMWE 2 B
9,945,000 9,945
ZOHQ XgME X2 447,000 441,336 5,664
307 glz2tol & 420,000 401,336 18,664
11T MISXASEEX 420,000 401,336 18,664
OSEZHMY NSMedH X2 (XHA)
400,000, 000 400,000
OUSZEZMMA NS MEME dH 29H &
20,000, 000 20,000
308 XX EHSOIA 27,000 0 27,000
01 HIXNHHNBHNEELES 27,000 0 27,000
O=Z el ety XA 27,000,000 27,000
SSHHAU NS MEBHE X2 509,747 454,331 55,416
= 317,067
< 192,680
308 XXM SO A 459,747 454,331 5,416
= 317,067
< 142,680
01 AXHHIYEES 459,747 454,331 5,416
OZSZMHAXSHH2dE XA 459,747,000 459,747
= 317,067
< 142,680
403 A X EHHSH20IA 50,000 0 50,000
01 XM A=LE L 50,000 0 50,000
OOMMAIZOH TS MEHE NI dXZE X
el 50,000, 000 50,000
ST 52X & FIt N 4,757,085 4,787,085 230,000
308 XX EHH SOl A 4,757,085 4,787,085 230,000
01 AXHHILEES 4,725,085 4,755,085 230,000




2N
X ZH -
L= B

el

=N IE
Zojel =NEA
Zojel XEK

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OZZZ 0 E52% & =00 d
4.,725,085,000 4,725,085
112 2SUHUSHEAXEAE A Y| 32,000 32,000 0
O=Z &0 &s2X XN (Z=IH) EXEIRA
29 32,000,000 32,000
Toje ESNAI0 A 84,791,825 71,653,559 13,138,266
2 75,131,997
= 9,659,828
308 AXIEHSOIA 84,791,825 71,653,559 13, 138,266
2 75,131,997
= 9,659,828
01 AIXSHMENMNEX= 84,791,825 71,653,559 13,138,266
OHMe E=Xed20 N 84,791,825,000 84,791,825
= 75,131,997
= 9,659,828
S=E2X e 20 264,112 124,255 139,857
= 234,024
& 30,088
308 XAHXIGH SO0l & 264,112 124,255 139,857
= 234,024
& 30,088
01 IXHHNIMNEXS 264,112 124,255 139,857
OEsExX JAt20 264,112,000 264,112
= 234,024
= 30,088
SO 22FAHQ s 106,450 106,450 0
307 QI2t0| ™ 106,450 106,450 0
11 A EXAIEE X 106,450 106,450 0
OgL IO ZBS RSN
106,450,000 106,450
SEXfel E2AEIH 55,300 55,300 0
= 49,000
& 6,300
308 MXISHHMSOIA 55,300 55,300 0
= 49,000
&< 6,300
01 HXHHIMNEXS 55,300 55,300 0
OYgg e SR A 55,300,000 55,300
= 49,000
& 6,300
ANILSHWXNR}AH 29 K& 505,000 491,000 14,000
= 252,500
o 252,500
308 XtXI &M S0 & 505,000 491,000 14,000
= 252,500




2N
X ZH -
L= B

el

ZOf el =Xl ot
ol sXsd
Zoel X

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 252,500
11 2I2SHUSHEAERAEASH] 505,000 491,000 14,000
ONHLLHMAAHE 2 X
505,000,000 505,000
=2 252,500
& 252,500
ZOHOF JIE =X 1,834,711 1,393, 141 441,570
= 1,284,298
& 550,413
307 2iz2to| & 1,834,711 1,393, 141 441,570
= 1,284,298
< 550,413
11 AEI = RIAN 2 = 1,834,711 1,393, 141 441,570
OZO4OF Jt= LS X & 1,834,711,000 1,834,711
= 1,284,298
o= 550,413
SETHEAH A BIRH A 4,112,424 3,686,840 425,584
= 3,643,920
& 468,504
308 MXISHHSOIA 4,112,424 3,686,840 425,584
=2 3,643,920
& 468,504
01 IXHHIMNEEXS 4,112,424 3,686,840 425,584
S THEAEA BIRH XS 4,112,424 ,000 4,112,424
= 3,643,920
& 468,504
AHEEXRE HIRH A 36,295 51,711 N 15,416
2 32,160
== 4,135
308 XX SHHSOIH 36,295 51,711 N 15,416
2 32,160
o=t 4,135
01 AIXSHMEAMNEX= 36,295 51,711 N 15,416
OHHEYLXE HIRH K& 36,295,000 36,295
= 32,160
& 4,135
HOHQIDIER & 235,000 235,000 0
307 2iz2to| A 235,000 235,000 0
11T AISIEXAIEEX 235,000 235,000 0
OSEEHMHUIIIZSXNJEEH 89 235,000,000 235,000
ZOHIIEXI R (AR) 170,400 140, 400 30,000
308 MXISHHMSOIA 170,400 140,400 30,000
01 IXHHIMNEXS 170,400 140,400 30,000




AN HOHUSX 2t

g Foje sxsd

el Zoyol XX (el @2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OAl - 2 ZOQIIEXZAH 28 X
150,000, 000 150,000
OsZZMe 2A3== 20,400,000 20,400
A2t ZOH QI oHOFAFTIHA AFS 715,000 621,819 93,181
= 572,000
< 143,000
307 21201 A 715,000 621,819 93,181
= 572,000
< 143,000
11T MISAASEX 715,000 621,819 93,181
OZZ2Y AZZOHIetOrAb ItA 715,000,000 715,000
= 572,000
< 143,000
Zoflg el K& (SXLRtel) 3,247,400 2,860,227 387,173
= 2,498,000
< 749,400
308 XX EHH SOl A 3,247,400 2,860,227 387,173
= 2,498,000
< 749,400
01 HXNHHBHELS 3,247,400 2,860,227 387,173
OFoel =X LXtel XA 3,247,400, 000 3,247,400
= 2,498,000
< 749,400
ool LetE (MYH) LXel X 8,244,600 7,404,476 840,124
= 6,342,000
< 1,902,600
308 XX EHSOIA 8,244,600 7,404,476 840,124
= 6,342,000
S 1,902,600
01 HIXNHHNBNEES 8,244,600 7,404,476 840,124
OFOfe Lot (MAH) LXtel XA
8,244,600, 000 8,244,600
= 6,342,000
< 1,902,600
ZOHCl UurE (AIZFAH) LXtel XI& 2,107,300 1,707,225 400,075
= 1,621,000
< 486,300
308 X EHSOIA 2,107,300 1,707,225 400,075
= 1,621,000
= 486,300
01 HIXNHHNBNEES 2,107,300 1,707,225 400,075
OZOHQl LutE (Al2FAM) LXtel X
2,107,300, 000 2,107,300
= 1,621,000
= 486,300
LETNARLAES A EXAEY 408,200 356,870 51,330




2N
X ZH -
L= B

el

=N IE
Zojel =NEA
Zojel XEK

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 374,000
& 94,200
308 XHXIEH SO0l A 408,200 356,870 51,330
= 314,000
&< 94,200
01 AIKSHHEMNEX= 408,200 356,870 51,330
OYG XM RABESAF EX ALY 408,200,000 408,200
= 314,000
& 94,200
SEEZIOH Rl JIE S AR S 120,000 120,000 0
= 84,000
=} 36,000
307 QI2t0| ™ 120,000 120,000 0
= 84,000
& 36,000
11 Al EXAIEEX 120,000 120,000 0
OoggXoojel JIIEsAXA 120,000,000 120,000
2 84,000
& 36,000
23FA HEXNSE 137,350 82,500 54,850
= 109,880
= 27,470
307 2Iz2t0| & 137,350 82,500 54,850
2 109,880
= 27,470
11T A EXAIEEX 137,350 82,500 54,850
Ogg e ss=A4XJ 137,350,000 137,350
2 109,880
& 27,470
SR E2NsIH 56,000 56,000 0
=2 28,000
= 28,000
307 gizto| A 56,000 56,000 0
= 28,000
= 28,000
11T AISIEXAIEEX 56,000 56,000 0
Ogg e 9R0) RER2U=R 20,000,000 20,000
= 10,000
= 10,000
OdoldE)| LSS EOIXE A2 A
20,000,000 20,000
= 10,000
= 10,000
OH4 oA = 16,000,000 16,000
= 8,000
& 8,000

oo




D EMUSX

B Zoje =SXNEA
o FOjel X2 X

= SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
ST FAHESAHHA X 8,125,714 5,417,143 2,708,571
= 7,200,000
< 925,714
308 XXX S0 A 8,125,714 5,417,143 2,708,571
= 7,200,000
< 925,714
01 AXSHBLEELS 8,125,714 5,417,143 2,708,571
Oggzofel =2asMlA XA
8,125,714,000 8,125,714
= 7,200,000
< 925,714
LY Es SSHMHA X 2,836,100 2,686,000 150, 100
= 2,513,000
< 323,100
308 XX EHH SOl A 2,836,100 2,686,000 150, 100
= 2,513,000
< 323,100
01 AXSHBLEELS 2,836,100 2,686,000 150, 100
LI Hhs SSMHHA X
2,836,100, 000 2,836,100
= 2,513,000
= 323,100
FasMblA 29 o8 X3 231,800 205,000 26,800
= 115,900
< 115,900
308 XX EHH SOl A 231,800 205,000 26,800
= 115,900
< 115,900
11 3J2SoHUHSI S HAE ALS HI 231,800 205,000 26,800
OF2esMHdlA 288 XI& 231,800,000 231,800
= 115,900
< 115,900
HEZOHC F2AESMHEA & FIOAE MY 577,368 577,368 0
308 XXIEH SO0 A 577,368 577,368 0
01 HIXNHHBNEES 577,368 577,368 0
OZZHML FAE8ESHHA & FIXZ
577,368,000 577,368
ool AMldEs 54,425,391 53,382,942 1,042,449
= 38,996,646
< 15,428,745
TN FAE 29(5) 71,586 527,213 A 455,627
201 Let249] 47,820 0 47,820
01 At 22l 47,820 0 47,820
OZOMA=XAIE BIOHALS 47,820,000 47,820




2N
X ZH -
L= B

el

=N IE
Zojel =NEA
Tojel AlMEE

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
307 2Iz2to| & 23,766 11,016 12,750
11T AISIEXAIEEX 23,766 11,016 12,750
OBOMANFAIL AAEHNL DS
11,016,000 11,016
OHMAHZ=AIAL SOISUHE 12,750,000 12,750
OO HFTAY 29 (A2, 29Y9) 42,249,026 40,871,471 1,377,555
= 37,435,846
& 4,813,180
308 XAHXIGH SO0l & 42,249,026 40,871,471 1,377,555
2 37,435,846
& 4,813,180
01 AIKISHHENEXZ 42,249,026 40,871,471 1,377,555
OFMAUAAHAF=ANE 29 N3 42,249,026,000 42,249,026
2 37,435,846
== 4,813,180
OO HFAILE 2 X2 (AlZ2, &dl) 128,754 128,754 0
= 114,086
o= 14,668
308 MXISHMSOIA 128,754 128,754 0
= 114,086
= 14,668
01 AIXSHMENEXZ 128,754 128,754 0
OFMAAHNF=AIE AHIEAO0EE XEH
128,754,000 128,754
= 114,086
o=t 14,668
ORI HFAIE 29 XK (&EH) 200,000 145,400 54,600
= 100,000
= 100,000
307 QI2t0| ™ 200,000 145,400 54,600
= 100,000
& 100,000
10 A SXNANEEHESIHEX 200,000 145,400 54,600
OLIcH&OHe & &X - 29 200,000,000 200,000
= 100,000
& 100,000
HOHZ=AIE JIsEL 1,160,114 1,151,742 8,372
= 580,057
& 580,057
403 XX SHHS K20 & 1,160,114 1,151,742 8,372
= 580,057
= 580,057
01 XIS A2E X 1,160,114 1,151,742 8,372
OZHMHUAHAFAILE JsEL 1,160, 114,000 1,160,114
= 580,057




AN HOHUSX 2t

g Foje sxsd

Sl Mojel AlssE CEEEED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
| = 580,057
HOHRIHFAIE E XA 1,093,368 0 1,093, 368
308 AXIEHMSOIA 1,093,368 0 1,093, 368
01 AIXSHMENEXZ 1,093,368 0 1,093, 368
OXEMHAHZ=AIE2L XK (IHQ!) 391,921,000 391,921
OEsS&HMNUESHEE K& 142,500,000 142,500
OHEOMRAUHZTAE SAIN gEdLZ2 )8 X 42,750
OZOMUAHTAILEESALA QIAHAHES(HEZ2Z2 S
) 516, 197,000 516,197
ool 22X 29 ,558,445 4 567,931 N9,486
307 2iz2tol A ,918,445 3,897,051 21,394
05 QIZ2tRE 2 3,836,301 3,834,257 2,044
Ozg &M =EXN2 249 3,500,000,000 3,500,000
OFMUEA 2 SelXS A A& 117,208,000 117,208
OFAWHEA XIS 45,594,000 45 594
OB AN A& 44,121,000 44 121
OHMAUSAI & HAA X 129,378,000 129,378
11T AISIEXAIEEX 82,144 62,794 19,350
Osgaetc slat2d X& 55,144,000 55,144
OsdgdeIEssrets & 27,000,000 27,000
308 XX G S0l & 200,000 224,400 A 24,400
01 AIKISHHEMNEXZ 200,000 224,400 AN 24,400
OAZ ZOHOIEXAIY X (IsXH)
200,000,000 200,000
402 SI2F X201 & 305,000 422,480 A 117,480
01 CIZEXIEANS X (ML) 305,000 422,480 A 117,480
OssIAZEMAUASI 2 JIsEL
305,000,000 305,000
403 XX SHHS K201 & 135,000 24,000 111,000
01 XIS A2 X 135,000 24,000 111,000
OANZEHOIEXZ JIs22 (A A OHA)
115,000,000 115,000
OFSAHAZE ZIIHSAAHEEX X
20,000,000 20,000
HOeIXHEHESH 1,262,000 1,140,000 122,000
307 212t0| & 862,000 740,000 122,000
10 M SXANEEHESIHEX 862,000 740,000 122,000
OsEdx0sSddH 29 522,000,000 522,000
OIS0 SARME 2Y
340,000,000 340,000
402 SI2F X201 & 400,000 400,000 0




D EMUSX
e EXsd
MY AEESE

- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
01 SI2ZEXIEANSEXR (M) 400,000 400,000 0
OFYANZEHMASHAE S X2
400,000,000 400,000
HOHQIEHOIAIE == 386,120 408,257 N22,137
301 et A= 12,180 0 12,180
12 JIEtE A= 12,180 0 12,180
OBUES o= MBS ASHS 242 X2
12,180,000 12,180
307 212t0| & 228,590 246,757 N 18,167
10 M SXANEEHESIHEX 170,432 170,432 0
OSY XA HOAILEXRAALYH 29
170,432,000 170,432
11T A EXAIEEX 58,158 64,620 NB,462
OQHEYANE AXl TFAH XS 58,158,000 58,158
403 XX SHHS K20 & 145,350 161,500 A 16,150
01 XIS A=Z2E X 145,350 161,500 A 16,150
OZOHQI HOYAIL &AX K& 145,350,000 145,350
ZOHQIAIAE SALAF AR A , 361,287 930,234 431,053
307 QI2t0| ™ 314,820 251,220 63,600
10 A SXANANEEHESIGHEX 314,820 251,220 63,600
OXHAKE AL SAMX HRME(E)
37,800,000 37,800
OZOHUAE SAIK HRMHE(Z)
202,110,000 202,110
QOXOHQAIE ESALA HRMA (S &HOoHel ol
KAASHE) 6,510,000 6,510
OXOHQIAIE ZAX HHUZAH(Z)
68,400,000 68,400
308 XAXIGH SO0l & ,046,467 679,014 367,453
01 IXHHIMNEXS ,046,467 679,014 367,453
OZOHKAE SAFKE HLXMA (AlZ)
78,432,000 78,432
QOXOHQAAE ESAX HRMHA(AZ)
653,755,000 653,755
OZOHRIAIE S ALK HMHZAIH|(AlZ2)
314,280,000 314,280
ZOoHel SO - F2AES XA 913,500 ,073,500 A 160,000
308 XHXIGH SO0l & 913,500 853,500 60,000
01 AIKISHHEMNEXZ 913,500 853,500 60,000
OOl = - F2HES & 853,500,000 853,500
OZQ=2ESAIE 2GR (0L
60,000,000 60,000




2N
X ZH -
L= B

el

=N IE
Zojel =NEA
Tojel AlMEE

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
A Fopel edssI2 2EXE 250,000 202,508 47,492
= 125,000
< 125,000
307 gl2tol & 250,000 202,508 47,492
= 125,000
< 125,000
11T AIS S RAEE = 250,000 202,508 47,492
OX<g Hojel HAds83I/2 2 250,000,000 250,000
= 125,000
< 125,000
ZoHol AASHI2 XA (KA) 63,880 0 63,880
307 glz2tol & 63,880 0 63,880
10 ALSISXAIEEE2EHEX 63,880 0 63,880
OsEHMAAASS I 2K & (XA
63,880,000 63,880
ZOHCIA=AIE BIEEI g X2 20,544 20,544 0
= 15,408
< 5,136
308 XX EHSOIA 20,544 20,544 0
= 15,408
= 5,136
01 HIXNHHBNEES 20,544 20,544 0
OZOMANFAIE BINFEI HEXH
20,544,000 20,544
= 15,408
< 5,136
ZOHANFAIE FLE 706,767 0 706,767
= 626,249
< 80,518
308 AHXIEHHSOIA 706,767 0 706,767
= 626,249
< 80,518
01 HIXNHHNBHNELS 706,767 0 706,767
OFMUANFANE FL+E 706,767,000 706,767
= 626,249
< 80,518
Zofel MHax& 7,885,630 10,691,005 22,805,375
= 6,355,788
< 537,442
£ 992,400
ZOHQOIE 2EHEH AE 6,046,400 600,000 5,446,400
= 4,894,000
= 160,000
£ 992,400
401 Al HIZ 201 8] 6,046,400 600,000 5,446,400




2N
e =SXsN

el

X ZH
S =

ZOf el =Xl ot

ZoNel MHEXR

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 4,894,000
< 160,000
£ 992,400
01 A& HI 5,547,800 597,000 4,950,800
OsY ZIs e A (M)
5,547,800, 000 5,547,800
= 4,478,500
< 160,000
g2 909,300
02 2feldl 483,000 0 483,000
Osg Zoeot=s gzdy A (2eldl)
483,000,000 483,000
= 402,500
£ 80,500
03 Al =TI 15,600 3,000 12,600
OFd ZOHAUIE 22MH (ML)
15,600, 000 15,600
= 13,000
g2 2,600
ZOoHelel =l 1,365,092 1,518,457 A 153,365
= 1,269,853
< 95,239
308 XXM SO A 1,365,092 1,518,457 A 153,365
= 1,269,853
< 95,239
01 IXNHHBNEES 1,365,092 1,518,457 A 153,365
OZ 0 el el =l 1,365,092, 000 1,365,092
= 1,269,853
< 95,239
HASEOHe Mt 2 Z A K& 18,336 23,280 A4,944
= 18,336
308 XtXIEHHSOIA 18,336 23,280 A4,944
= 18,336
01 X HHILEES 18,336 23,280 A4,944
OMASZO0HR AEtHl & A AHl 18,336,000 18,336
= 18,336
ZOHol MEOY X2 (AZTHE) 106,981 118,868 A 11,887
308 X EHSOIA 106,981 118,868 A 11,887
01 HIXNHHBMNEES 106,981 118,868 A 11,887
OXZOQl MEIHAIL(AZHEXH)
106,981,000 106,981
SO ExD|D| K& 68,503 65,298 3,205
= 63,724
< 4,779
308 MXIEHMSOIH 68,503 65,298 3,205
= 63,724




2N

e EXsd

X ZH
S =

ZOf el =Xl ot

Sel: ZOoH HEXE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 4,779
01 IXNHHBNEES 68,503 65,298 3,205
O&FOMEEXII| XA 68,503, 000 68,503
= 63,724
< 4,779
A EE R XA 44,068 48,106 A 4,038
308 XX EHHSOIA 44,068 48,106 A 4,038
01 AXHHILEES 44,068 48,106 A 4,038
O E =clX& 44,068,000 44,068
SJ3EE BEIDDIdH Atcll &2 219,750 216,996 2,754
= 109,875
< 109,875
307 gl2tol & 219,750 216,996 2,754
= 109,875
< 109,875
11 ALS S XAEE = 219,750 216,996 2,754
OFEZE EXDIIIME Atellztel X
219,750,000 219,750
= 109,875
< 109,875
Zopel VR oIXIxHE K& 16,500 0 16,500
308 XtXIEHHSOIA 16,500 0 16,500
01 HXNHHBHELS 16,500 0 16,500
OZoiel VR eIXITHE XI& 16,500, 000 16,500
HY2HZH (HOHA =X ) 63,000 54,196 8,804
Jl2Z I (ZOoHel =X 1) 63,000 54,196 8,804
JI2ZHI(ZOHA=XD) 63,000 54,196 8,804
201 Let24d] 28,500 24,225 4,275
01 At 22/l 28,500 24,225 4,275
OFeI=X SHHRFA 28,500,000 28,500
202 O4dl 28,050 23,843 4,207
01 = LH 4 1l 28,050 23,843 4,207
OFeI=R PR FA 28,050,000 28,050
203 YR =] 6,450 6,128 322
03 Al =T YR =& 2,850 2,708 142
OZHeI=X SHHRSFA 2,850,000 2,850
04 REN2ELRZ=LH 3,600 3,420 180
O&MeI=X FRFH 3,600,000 3,600




